Complete the flow diagram and table using the verbal . Complete. - Find the LCM and HCF.
description. 1 24 1 18 and 24
The output value is 2,5 times the input value minus 3,2. Product of prime factors = 23 X 3! Prime factorisation
The input value is an even number between O and 12. Number of factors = (3 + 1)(1 + 1) =8 2 3 5 7 11
) /::\2 factors = {1; 2; 3; 4; 6; 8; 12; 24} 18 2 32
3
/, Product of prime factors = 2~ X 3~ 24 2 3
\ Number of factors = (__ + 1)(__+ 1) = LCM 23 32
I — _ All factors = (p™)
/ 3 30 HCF 2 3
Product of prime factors = @)
Number of factors = 2 8x?and 12x%
All factors = Prime factorisation
Input 4 78
Output Product of prime factors =
8x)?
Number of factors =
Complete All factors = 12X
i 5 12x% LCM
Nun]‘lber NUI121beI’ LCM | HCF N':mbgr 12X LCM X HCF Product of prime factors = (p™>)
umber Number of factors = HCF
1 24 24 3 72 All factors = (p™n)
2 10 6
HCF of t
3 18 108 - HCF of fractions = ° numeta or LCM of fractions = LCM of numerators
4 20 6 LCM of denominators HCF of denominators
2 8 2 12 4 9 17
1 HCFof = and —=— 3 HCFof —and —=— 5 HCFof — and — = —
5 21 35 735 9 15 45 1 15 10 24
2 8
6 18x 6x%| 18x2 LCM of —and = = — LCM of E and i = LCM of i and z =
27 9 11 15 10 24
7| 1ant | 422 2 HCFof Zand 22=— 4 HCFof 8and M =
3 15 9 16
8| 10abc 80a2h’c? LCM of % and % = LCM of g and % -




